| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

5 10 15 20 25
track dxy (cm)

30

£
A
N
ISES]
X
Q
3
o =
—
o
o
—
|
o
g

|

05 =50-15-10 50

| N of associated (recoToSim) looper tracks vs dz |

5

track dxy (cm)

|
Ii

25-20-15-10-5 0 5 10 15 20 2

F----

30

10 20
track dz (cm)

Syoel} e}

5t

0.95

5125 v2

30

20

track dxy (cm)

prelimWP_epoch4

5125 v2 prelimWP_epoch2 wSQCD

=3
o
=1

track dz (cm)

10

05 =50-15-10 =5 0 5 10 15 20 25

[N of associated (recoToSim) tracks vs dz_]

R

track dxy (cm)

5 10 15 20 25

e
o
sy

FRRE PITTTE PTRI R TR T
< )

o o
—

2
oney

O ¥E50-15-10 -5 0
N of reco track vs dz

20 30
track dz (cm)

10




	Contents
	Page 1


